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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AFR2t2l bl 27,416 25,032 2,384
Ogt2H| 9,200,000 9,200
OZ &l 18,216,000& 18,216
202 04 b] 13,800 12,600 1,200
01 2LHHI 13,800 12,600 1,200
OJ2gd@+a(RHINE RS L5
50,000& * 239 = 12& 13,800
203 ¥R =&H| 8,700 7,500 1,200
01 J|2A2HLR=XH| 3,300 3,300 0
OJE2ZAIAZ (43) 275,000 * 12& 3,300
04 ENSIHRF=EY| 5,400 4,200 1,200
ORNS2I9IRF&Y| 350,000& = 12& 4,200
ORNSIEIL2=XHI(HFMIMHE =)
100,000& * 122 1,200
204 X243 A Y| 4,200 4,200 0
01 M ZSLRHAH| 4,200 4,200 0
OXHILL2EXH|(42) 350,000& * 12& 4,200




